JoKTH I B E 2 BT 5L B 45 B PR

ERHHER: 20214 48 14H BifEssy: 97 B(MESHE:
TR EHR GiitAE TIE TR B SCHEER(T D NaR
===t
8 ;‘ BB FEREA (I
HEEE 1. BEMOY 2. ESMD 3. —RED 4. FEHD
/I\\ i 4 E P =
rEae | o~ | B R e I A TP=-e
o~ (/573) (/7T) (/7T) (Hm) | (Biw) | (Bo)
- 28.35 28.35 2835 | 100%
MBEER . ol s
~ M . ZBIBRTHEDEEND (SDAWE). 56, 15, IS8
7N
HENRE | MRS | SE | BT | S N ERIKIE
BB EE TR HISE RS itiR
7 E ha Z\ N A
MERFK 2 | RRAGE | 2 2 it 25, BETIES.
1. IS ETEEE 1 5
s | 3 3 2. MESESE 19,
3. BHENTEBERE 15, BENES.
RS EENREARE 2 5. 1§
A= pim|
AN | 2 2 i
ImEEE 1. BETREICR3YD;
135 ETeE | 4 3 2. IR (MEZHERSEE) 19, 1898
B,
1. MESMERSRBN 15, R—Imn
_ 0.54%, MzEALL;
BineR | 4 4 2. GUERGE 14>, FHEEI00.5 9,
3. HEEIREEREIRT 2 9, EEH 1 9.

WH AR H b 12 4% ECESRA P e G I A AR

T

85 %

—%
I

S=(ae =
(=F4E51R)

&
1545

B

T

FEL5S
BB

=
53\

%
53\

TN

e
=
40 &

it
®* =
AL

B E 4
TR

IEEE
J= B4

14

1. RE=RIEFeRAEERIDER

8=
tR 159

2. RIS ER=RIER M ETIIMHE
(15 53+ =48R E) , NEDNREBE

&




. 12 1. RESRISTRRRODERR,
REHE 2. SRS ER=FIER N S TIRE
#5129 (12 53+ =B, IEENRBE
%&0
1% M ]
| s | T T 6 1. SRR,
BIRIEE | akim s i P, =SOSR B RIS N T
¥R 69> (6 93+ = 4RI, MEANRBEE
%&0
\ 1. BRI AANEE SR,
BRAE 2. =SS ER=SIEF N TIRE
mTD (7 95+ ZYdEIRAN ), MEANRBE
%&0
. 1. RS RIS GRS,
25 2. SRS ER=FIER N TIRE
=109 (10 53+ =B ), IEENRBE
%&0
JUEBITRAL SR | SERE | S 9
| pemibms | gt | g 1. R =R SBGHHOEERE,
RS | BV e WA B | R 2. SRIEFS BIR=RIEIFSHTIImE
s 5510 3 7% | SR (10 53+ Z4UgiF D), INEENREE
figim -
3553\ B H— = St A=< SR .
. 10 1. BRI A SRS AR,
O 2. SRIEFS BR=FIEIRASTIImE
=109 (10 53+ =g ), IEENREE
8
Flp=5u 5 1. 3&":@‘—(593?5%@%&%2ul‘u]_lﬂ’ﬂ@lEﬁﬂ;FH
fompe 2, =SS ER=SIEF N TIME
RN (5 9+ YIRS, MEANRBE
7~ 28
8B5S | ppsexd 9 1. BRSBTS,
. b 2. =S ER=SISIR N STIRE
B = %O'j‘\ (10 3+ ZZBIRI ), WERNREE
105> "7 B
& | 85| 85 82

BA: 1. IEIRETR, FENMERREIERRRERES, MMERI;

2, ISFEMOERE, RIEmSR M ETIREBEY, TRRBBANTBTRBIRBY, BRERSRE

HOMENMSATRB RIS,

3. MEERSTMERSCARIIELAT DE (X IUERERFRD{E*SEhRseiVE DY) ;
4, WEMEHESHMETDEN, 9= K2, SBoRXIFEE—EXR, REATHGEE, MU EX
i&: 100%—81%. 80%—51%. 50%—0%.
5. MBRZE "FEAR B, 2XEN "FEER @IS, KEBHIHE. 6. EmES=1 'F
Bir3 Bt 755, ZMBSE5: (80+60+75) +3=71.6

BB, Bx18iT809,

4, W&EHENTF 72 45,

Bix 2 Bi¥ 60 53,



